Chapter 5

Recognizing Expenditures in Governmental Funds

Questions for Review and Discussion

  1.
Expenditures are decreases in net financial resources whereas expenses are reductions in overall net assets. Expenditures are governmental fund equivalents of expenses. In effect, expenditures are expenses that are determined on the modified rather than the full accrual basis of accounting.

  2.
Expenditures should be recognized on an accrual basis unless they qualify as one of the exceptions specifically set forth by the GASB. Utility costs are not such an exception and should thereby be recognized as an expenditure in the period in which the utility services are used.

  3.
Wages and salaries are accounted for on an accrual basis. The change would have no impact on reported expenditures under GAAP. The expenditure would be charged in the year in which the employees provided their services, irrespective of when they are paid.

  4.
Current standards state that “vacation leave and other compensated absences with similar characteristics should be accrued as a liability as the benefits are earned by the employees if both of the [following] conditions are met:

a.
The employees’ rights to receive compensation are attributable to services already rendered.

b.
It is probable that the employer will compensate the employees for the benefits through paid time off or some other means, such as cash payments at termination or retirements.”


By contrast, sick leave need be accrued only to the extent that it will be paid as a termination benefit. The difference in accrual requirements is based on the degree of control over the absences. The employer and employee can control if and when employees take vacations. They cannot, however, control if and when employees become sick. Except for the “termination” liability sick leave accumulates but does not vest. The liability is triggered by a noncontrollable future event — the illness itself.

5.
GASB Statement No. 16, Accounting for Compensated Absences does not require  a government to accrue the costs of future sabbatical leaves as long as the employee will engage in activities, such as research or obtaining additional training, that will “enhance the reputation of or otherwise benefit the employer.”  This policy can be justified in that the benefit to the employer is not during the years leading up to the sabbatical but in those afterward.  
  6.
Inventory, unlike the other assets, is not strictly a financial asset. It is neither cash nor is expected to generate cash. In that regard, it is not available for future appropriation. Therefore, some accountants contend that it should be offset by reserved rather than unreserved fund balance.

  7.
If a government accounts for inventory on a purchases basis, then it charges inventory as an expenditure (and consequently reduces unreserved fund balance) upon purchase. It therefore does not recognize the inventory as an asset. If, at year-end, it reports the inventory as an asset, then it must offset the increase in assets with an increase in fund balance — either unreserved or reserved. If the offset is made to unreserved fund balance, the effect would be to add back to unreserved fund balance amounts deducted from it when the inventory was purchased. This adjustment would cause the inventory to be accounted for on a consumption basis.

  8.
Yes. As governments repay capital debt out of governmental fund resources, they charge the payments to “other financing sources” (e.g., transfer to debt service fund) — not liabilities as in business accounting. Therefore, the cost of the asset would be charged to fund balance over the life of the debt, which is equal to the life of the asset. The debt repayment charge would be the equivalent of a charge for depreciation.

  9.
Interest is often a major expenditure of government. Inasmuch as the interest (as well as principal) may not be payable until the following year, the government does not have to collect the offsetting taxes until the following year. If the government charged an expenditure in the current year, but did not collect the taxes, then the government would report a deficit. This deficit, it could be argued, would give a false impression of governmental mismanagement. As with other exceptions to full accrual accounting, the requirement that interest be accounted for on a cash basis promotes more meaningful actual to budget comparisons since the budget is usually prepared on a cash basis.

10.
The district should report as an expenditure only the amount of the pension obligation that it intends to liquidate with available resources - thus $15 million. Pensions are another modification to the general rule that governmental funds are accounted for on an accrual basis. The balance of $3 million would be reported as a liability only in the government-wide statements and the schedule of long-term obligations.

11.
Both the $30 million return of capital and the $10 million payment in lieu of taxes would be reported as nonreciprocal transfers since they represent payments for which no goods or services of equivalent value have been received and for which there is no requirement for repayment. They would be reported in the statement of revenues, expenditures and changes in fund balance in the section “other financing sources and uses.”

12.
False. The reported general fund balance at year-end is determined on the basis of generally accepted accounting principles, including those applicable to revenue and expenditure recognition. Insofar as these differ from the principles used to formulate the legally adopted budget, then the resultant fund balance is not indicative of the amount available for future appropriation. For example, for budgeting purposes a government may recognize property taxes as revenues only as cash is received. Under GAAP it may recognize them as revenues if they will be received within 60 days of year-end. Therefore, under GAAP the taxes to be received in the 60 days after year-end will be shown as additions to both taxes receivable and fund balance. For budgetary purposes, the portion of fund balance that represents the taxes would not be available for appropriation.
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EX 5-3

1.
Purchases method
Supplies expenditure
$22,000

Accounts payable

$22,000

To record the acquisition of supplies
Accounts payable
$19,000

Cash 

$19,000

To record the payment of amounts owed
Supplies inventory
$ 2,000

Fund balance—reserve for supplies inventory

$ 2,000

To increase the balance in inventory and the related reserve account from the beginning of year balance of $3,000 to the end of year balance of $5,000
2.
Consumption method
Supplies inventory
$22,000

Accounts payable

$22,000

To record the acquisition of supplies
Accounts payable
$19,000

Cash 

$19,000

To record the payment of amounts owed
Supplies expenditure
$20,000

Supplies inventory

$20,000

To record the consumption of inventory

Fund balance—unreserved
$2,000

Fund balance—reserved for supplies inventory

$2,000

To increase the balance in the inventory reserve account from the beginning of year balance of $3,000 to the end of year balance of $5,000 (Governments using the consumption method to account for inventories are not required to establish a reserve for supplies inventory.)
3.
The balance sheet under both methods would reflect the same amount of inventory. It would also present the same unreserved fund balance if a reserve for supplies inventory were established (if not, total fund balance would be the same regardless). However, the statement of revenues and expenditures would differ. Under the purchases method, supplies expenditure is debited for the amount of inventory purchased and unreserved fund balance is charged (or credited) with the change in inventory during the year. Under the consumption method, the supplies expenditure is debited with the amount used and no adjustment is made to unreserved fund balance.

EX 5-4

1.


Debits
Credits
                                                                                               (in thousands)

Cash
$  0
$ 70

Inventory
      1
0

Vouchers payable
  _70
_58

Appropriations
   0
115 

Encumbrances
__93
   58
Expenditures
  58
  0

Reserve for encumbrances
  58
 93

Fund balance
_115
  0

Reserve for supplies inventory
0
__1

Fund balance
115


Appropriations

115

To record appropriations

Encumbrances
93


Reserve for encumbrances

93

To record the order of supplies

Expenditures
58



Vouchers payable

58

To record the receipt (purchase) of supplies

Reserve for encumbrances
58


Encumbrances

58

To disencumber the reserve for supplies upon the receipt of the supplies

Vouchers payable
70


Cash

70

To record the payments for the inventory

Inventory
 1


Reserve for inventory

  1

To adjust the inventory and related reserve account for the $1 increase in inventory during the year.

2.
Consumption basis expenditures would be $1 less — i.e., $57 instead of $58 inasmuch as the government purchased the same amount but increased its inventory by $1.  In addition the government would not be required to maintain a reserve for inventory.

EX 5-5

1. a.  Per reserve for inventory

BB + Supplies received – Supplies used = EB


EB  = $170 + $3360 – $3280


Fund balance, reserved for inventory = $250

   b.  Per reserve for encumbrances

Beginning balance + Encumbrances - Supplies Received = EB


240 + 3160 – 3360 = EB


Fund balance, reserved for encumbrances = 40

   c.  Per unrestricted fund balance

BB + Revenue – Expenditures* – (EB, reserve for encumbrance – BB, reserve for encumbrances)  = EB


400 + 3300 – 3360 – (40 – 240) = EB


Fund balance (unrestricted) = 540


* Expenditures = supplies received (purchased)

2.  The purchases method better reflects the budget (related to a key objective of financial reporting) than does the consumption method.

EX 5-6

1.

a. Cash payment
Capital assets—expenditure
$200,000

Cash 

$200,000

To record the acquisition of equipment
b. Capital lease
Capital assets—expenditure
$200,000

Other financing sources—capital lease

$200,000

To record the acquisition of equipment under a capital lease

Debt service expenditure (lease principal)
$43,095

Debt service expenditure (lease interest)
20,000

Cash 

$63,095

To record the first lease payment consisting of interest (10 percent of $200,000) and principal
c. Installment notes
Capital assets—expenditure
$200,000

Other financing sources—installment notes

$200,000

To record the acquisition of equipment by issuing installment notes

Debt service expenditure (note principal)
$43,095

Debt service expenditure (interest)
20,000

Cash 

$63,095

To record the first note payment consisting of interest (10 percent of $200,000) and principal
2.
Under all three options the vehicles would be recorded in the schedule of capital assets. Under the capital lease and the installment note options, the debt would be recorded in the schedule of long-term obligations.  Both the assets and the related debt would also be reported in the government-wide statements.  

EX 5-7

1.
Vacations earned during year

General fund

Vacation pay expenditure
$4.2

Cash 

$4.2

To record vacations paid for
2.
Vacations paid for but earned in prior years

General fund

Vacation pay expenditure
$0.7

Cash 

$0.7

To record vacations paid for
3.
The “deferred” vacation pay of $0.8 would be added to a long-term obligation (e.g., liability for vacation pay), and the $0.7 paid in the current year but applicable to prior years would be subtracted from it.

4.
The government-wide statements would include a vacation pay expense of $5.0 and a year-end liability of $0.8.  

EX 5-8

1.

General fund
Sick leave expenditure
$3.1

Cash 

$3.1

To record sick leave paid for during the year

Only the $0.2 million to be taken as a retirement benefit would be recognized in the schedule of long-term obligations and in the government-wide statements.

2.
Consistent with the modified accrual basis of accounting the expenditure for sick leave is recognized when it results in a reduction of currently available financial resources. The obligations for amounts to be paid in the future are recognized even in the government-wide statements and the schedule of long-term liabilities only insofar as they will be paid as termination benefits — i.e., not for sick days. The rationale for this practice is that the payment of sick leave, other than the amount to be paid as a termination benefit, is contingent upon employees getting sick. The key economic events are the illnesses of the employees rather than the accumulation of the leave.

EX 5-9

1.

Nonreciprocal transfer-out (to internal service fund)
$4,000,000

Cash 

$4,000,000

To record transfer to the data processing internal service fund to provide start-up capital

2.

Data processing expenditure
$   50,000

Cash 

$  50,000

To record payment to the data processing internal service fund for services provided (a reciprocal transaction)

3.

Equipment rental expenditure
$   38,000

Cash 

$  38,000

To record payment to the capital projects for costs incurred on behalf of the general fund (a reciprocal transaction)

4.

Electric utility expenditure
$ 300,000

Cash 

$ 300,000

To record payment to the electric utility fund for services provided (a reciprocal transaction)

5.

Nonreciprocal transfer-out to debt service fund
$  600,000

Cash 

$600,000

To record payment to the debt service fund for principal and interest on general obligation debt
EX 5-10

1.
Consumption method
May 1, 2007
Prepaid rent
$60,000

Cash 

$60,000

To record the payment of rent
June 30, 2007
Rent expenditure
$10,000

Prepaid rent

$10,000

To record two months rent expenditure for the period May 1, 2007 to June 30, 2007
April 30, 2008
Rent expenditure
$50,000

Prepaid rent

$50,000

To record rent expenditure for the ten month period from July 1, 2007 to April 30, 2008
May 1, 2008
Prepaid rent
$60,000

Cash 

$60,000

To record the payment of rent
June 30, 2008
Rent expenditure
$10,000

Prepaid rent

$10,000

To record two months rent expenditure for period May 1, 2008 to June 30, 2008
April 30, 2009
Rent expenditure
$50,000

Prepaid rent

$50,000

To record rent expenditure for the ten month period from July 1, 2008 to April 30, 2009
2.
Purchases method
May 1, 2007
Rent expenditure
$60,000

Cash 

$60,000

To record the payment of rent for the twelve months beginning May 1, 2007
May 1, 2008
Rent expenditure
$60,000

Cash 

$60,000

To record the payment of rent for the twelve months beginning May 1, 2008
No entries are required in 2009
Problems

Continuing Problem

1.
Austin classifies its expenditures and expenses by function (programs and activities) not by object. The classifications are approximately the same for both the government-wide and the governmental fund statements. (pp. 18, 22)

2.
As shown in the reconciliation the major differences in expenditures/expenses relate to how capital assets and long-term debt are accounted for. Thus, the government-wide statements report depreciation; the fund statements report capital asset acquisitions. The government-wide statements do not report either bond proceeds or bond repayments. The fund statements report both. In addition, the government-wide statements accrue compensated absences; the fund statements do not. (p. 23)

3.
The consumption method, per Note 1 (p. 43). Yes, it does maintain a fund balance reserve for inventories. (p. 20)

4.
In its governmental funds balance sheet the city reports prepaid items as an asset, suggesting that expenditures are recognized on a consumption basis. (p. 20) 

5.
Note 12 provides information on interfund transfers. The general fund made transfers to the nonmajor governmental and nonmajor enterprise funds. It received transfers from the electric fund and the water and wastewater fund. (pp. 85-86)

6.
The city maintains fund balance reserves for encumbrances and prepaid items and inventories. These reserves are equal to the balances in the related asset accounts (inventories plus prepaid expenses and other assets) and indicate that the assets are unavailable for appropriation inasmuch as they are noncash assets and cannot be expected to be transformed into cash. Encumbrances, like the prepaid items and inventories, have not yet been recognized as expenditures. The reserve indicates the portion of the fund balance (net assets) that is unavailable for appropriation since it represents a commitment for goods or services on order. (p. 20)

7.
Depreciation is not explicitly reported as an expense in the government-wide statements. The notes to financial statements indicate that it is incorporated into the various functional expenditures. (p. 44)  
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1.
Vacation and holiday pay

Vacation and holiday pay expenditure
$4.2

Cash (or wages payable)

$4.2

To record vacation and holiday pay (general fund)
An additional $0.1 would be reported as a liability in both the government-wide statements and the schedule of long-term obligations. This represents the net change ($0.5-$0.4) in the liability during the year.

2.
Sick leave

Sick leave expenditure
$1.5

Cash (or wages payable)

$1.5

To record sick leave payments (general fund)
Only the $0.2 million need be added to long-term liabilities in the schedule of long-term debt or the government-wide statements.

3.
Per GASB Statement No. 16, Accounting for Compensated Absences, vacation and holiday pay should be accrued as earned as long as the following conditions are satisfied:

a.
The employees’ rights to receive compensation are attributable to services already rendered.

b.
It is probable that the employer will compensate the employees for the benefits through paid time off or some other means, such as cash payments at termination or retirement.


However, in the general fund, only the amount expected to be liquidated with expendable available financial resources should be reported as an expenditure (and related liability).


By contrast, sick leave should only be accrued insofar as it is expected to be paid as a termination benefit.


The rationale behind these seemingly conflicting standards is that whereas vacation and holiday leave is within the control of the employer and/or the employee, sick leave is not. Sick leave is not dependent upon the employee’s service, but rather upon his or her getting sick.

4.
Clearly the $0.2 million actually paid to employees should be charged as an expenditure. But consistent with GASB Statement No. 16, the amount carried over to the future should be accrued only if maternity leave is considered to be within the control of the employer and the employee.

5-2

Neither school district should make any entries in their operating (general or other governmental) funds in the first year after adopting its new leave policy since the first payments will not be made for seven years. Under current accounting principles, only costs expected to be liquidated with expendable available resources should be charged as expenditures.

The issue faced by the two districts, therefore, is whether a liability for the current year’s share of the sabbaticals to be taken in the future should be reported in government-wide statements and schedules of long-term liabilities. Current standards prescribe that a liability should be accrued in the period a leave is earned only if the leave is intended to provide “compensated unrestricted time off.” By contrast, if it is intended to provide employees with relief from their normal duties so that they can perform research, obtain additional training, or engage in other activities that would “enhance the reputation of or otherwise benefit the employer,” then the sabbatical should be accounted for in the period the service is rendered.

The leave policy of the Allendale School District specifically states that it is intended for “renewal, additional education and academic enrichment.” Therefore, it can be argued that the policy satisfies the criteria for recognition in the period a leave is taken and that no liability need be recognized until then. However, the provisions of the contract appear to suggest otherwise; it appears that the policy is, in fact, intended to provide “compensated unrestricted time off.” A leave is guaranteed to all employees who have been with the district for the previous seven years, and teachers are not accountable to the school district for their activities while on leave. Further, since the leave vests, employees do not even have to return to teaching after they complete their leave (e.g., they can take the leave as paid time-off or be compensated for it upon retirement). If the leave does not satisfy the criteria for delayed recognition, then a proportionate share of the estimated cost should be added to a liability account each year in both the government-wide statements and the schedule of long-term obligations. That is $7,500,000 ($3,000 per teacher for 2,500 teachers).

By contrast, the policy of the Balcones West School District clearly is intended to promote research, further study or other activities that will benefit the district after a leave is taken. Therefore, no liability need be accrued and reported.

5-3

1.
Consumption Method

Under the consumption basis, the expenditures would represent the amount of supplies consumed. By analyzing the inventory account, we can determine the amount of supplies purchased:

Beginning balance + Purchases - Consumption = Ending balance
       54,000             + Purchases -   315,000       =   81,000


Hence, purchases = $342,000


By analyzing the reserve for encumbrance account (and assuming that the actual purchases equals the amounts encumbered), we can determine the amount of supplies ordered:

Beginning balance + Supplies ordered - Purchases = Ending balance
       9,000               + Supplies ordered -  342,000   =   45,000


Hence supplies ordered = $378,000

a.
The following entries would have been made during the year:

Encumbrances
$378,000

Reserve for encumbrances

$378,000

To encumber $378,000 for supplies ordered

Reserve for encumbrances
$342,000

Encumbrances

$342,000

To reverse encumbrances and the related reserve as goods are received (purchased)
Supplies Inventory
$342,000

Cash 

$342,000

To record the purchase of supplies
Expenditures—supplies
$315,000

Supplies inventory

$315,000

To record the use of supplies
b.
The following adjusting and closing entries would have to be made at year-end:

This adjusting entry is not mandatory for entities using the consumption method:

Fund balance—unreserved
$ 27,000

Fund balance—reserved for supplies inventory

$ 27,000

To adjust the supplies inventory reserve so that it is equal to the supplies inventory
Fund balance—unreserved
$351,000

Expenditures—supplies

$315,000

Encumbrances

  36,000

To close expenditures and encumbrances
2.
Purchases Method

Under the purchases basis, the expenditures would represent the amount of supplies purchased. By analyzing the inventory account (and the related information as to supplies actually on hand at year-end), we can determine the amount of supplies consumed:

Beginning balance + Purchases - Ending balance = Consumption 
       54,000             +    315,000 - 81,000              =  Consumption 


Hence, supplies consumed = $288,000


As before, by analyzing the reserve for encumbrance account (and again assuming that the actual purchases equals the amounts encumbered), we can determine the amount of supplies ordered:

Ending Balance - Beginning balance + Purchases = Supplies ordered
       45,000        -          9,000             +   315,000  = Supplies ordered

       Hence supplies ordered = $351,000

a.
The following entries would have been made during the year:

Encumbrances
$351,000

Reserve for encumbrances

$351,000

To encumber $351,000 for supplies ordered
Reserve for encumbrances
$315,000

Encumbrances

$315,000

To reverse encumbrances and the related reserve as goods are received (purchased)
Expenditure—Supplies
$315,000

Cash 

$315,000

To record the purchase of supplies
b.
The following adjusting and closing entries would have to be made at year-end:

Supplies inventory
$ 27,000

Fund balance—reserved for supplies inventory

$ 27,000

To adjust the supplies inventory account and related reserve so that they reflect the $81,000 of goods on hand
Fund balance—unreserved
$351,000

Expenditures—supplies

$315,000

Encumbrances

  36,000

To close expenditures and encumbrances
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1.
Journal entries (in thousands)

Fund balance
$195

Appropriations—supplies expenditures

$195

To record the budget for supplies expenditures
Encumbrances
$ 12

Fund balance

$ 12

To restore encumbrance from previous year
Encumbrances
$180

Reserve for encumbrances

$180

To establish a reserve for supplies ordered
Supplies expenditure
$185

Cash 

$185

To record the receipt of supplies (purchases method)
Reserve for encumbrances
$185

Encumbrances

$185

To eliminate the portion of the reserve for encumbrances representing the supplies received (It is assumed that the amount encumbered for these supplies is equal to the cost of the purchases).

Supplies inventory
$  7

Fund Balance—reserved for supplies

$  7

To adjust supplies inventory and the reserve for supplies on hand at year-end in the amount of the difference between inventory on hand at beginning of year ($30) and at end of year ($37 — Beginning balance of $30 plus purchases of $185 less consumption of $178)
Appropriations—supplies expenditure
$195

Expenditures

$185

Encumbrances

   7

Fund balance—unreserved

   3

To close appropriations, expenditures and encumbrances accounts
2.
The statement of revenues, expenditures and changes in fund balance would report supplies expenditure of $185. The balance sheet would report supplies inventory of $37, reserve for supplies of $37 and reserve for encumbrances of $7.

3.
The city budgeted $195 for supplies; the department spent (i.e., ordered) only $180. Therefore it underspent its budget, on a budget basis, by $15.

4.
a.
Insofar as “true” economic cost represents the amount of supplies consumed, then the statement of revenues, expenditures and changes in fund balances fails to indicate the true economic cost of supplies; the city recognizes expenditures as supplies are purchased, not consumed.


b.
Inasmuch as the budget records supplies ordered (encumbered) as an expenditure, the reported expenditure cannot be compared with the budgeted expenditure.

5.
a.
The officials’ cost cutting measures would reduce expenditures as determined on a budget basis.


b.
They would also reduce reported (GAAP-based) expenditures, since the city uses the purchases basis to account for supplies. However, were the city to use the consumption method, then it would have a limited impact on reported expenditures. Reported expenditures would be determined by the amount of supplies used, which is constrained only indirectly by the amount purchased.
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1.
Entries to record sale and lease-back

Cash 
$5,000,000

Proceeds from sale and leaseback (other financing sources)

$5,000,000

To record receipt of cash from the financing agency
Capital assets—expenditure
$5,000,000

Other financing sources—capital lease

$5,000,000

To record the acquisition of the equipment under the capital lease
2.
Entry to record first lease payment

Debt service expenditure—lease interest
$  300,000

Debt service expenditure—lease principal
   135,920

Cash 

$435,920

To record the first lease payment consisting of interest (6 percent of $5,000,000) and principal
3.
The transaction will reduce the general fund deficit in 2008. The sale and leaseback results in two credits on the statement of revenues, expenditures and changes in fund balances and one offsetting debit of $5 million each. The result is made possible because, first, governments account for their operations in more than one fund, not all of which must be balanced, and second, governmental funds do not report capital assets or long-term debt. As discussed in Chapter 2, governments account for operations in more than one fund to promote both control and accountability over restricted resources. They exclude capital assets and long-term debt from governmental funds because the measurement focus of governmental funds is on financial resources — a measurement focus which best promotes the reporting objective of demonstrating budgetary compliance. When viewed from the perspective of the city as a whole, the transactions have resulted in the infusion of $5 million in cash to be repaid over 20 years as installments on the notes. Although the repayment must ultimately come from the general fund, the notes payable are not recorded in that fund. The cash goes to the general fund and thus increases the fund balance of the general fund.
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a.
Net expenditures
Year 1
  Year 2
  Year 3
1.
Buy outright
$60,000
$0
         $0

2.
Finance with single payment note
         $0
$0
$79,860

3.
Finance with installment note
$24,127
$24,127
$24,127

4.
Standard operating lease
$24,127
$24,127
$24,127

5a.
Prepaid lease (purchases method)
$60,000
         $0
         $0

5b.
Prepaid lease (consumption method)
$20,000
$20,000
$20,000

6.
Capital lease
$24,127
$24,127
$24,127

b.
The present value of the cash payments under each of the six options is $60,000.

c.
Officials are likely to be under pressure to cover expenditures without raising taxes and other fees or without reducing the level and quality of services. Therefore, they have incentives to select financing arrangements that permit the district to postpone cash outlays.

d.
Under generally accepted accounting principles for businesses and hence for government-wide statements, the cost of purchasing or capital leasing computers would be spread-out over the three year period. The entity would record a basic depreciation expense of $20,000 per year for using the computers. Under options 2,3 & 6, the annual payment would be divided between principal and interest.  In the case of option 4, the entire payment would be reported as “rent”.  Under option 1 the entire purchase price would be reported as an equipment expenditure.
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1.
Bonds issued at par

a.
The economic cost would be $10,000,000 at 6 percent interest for 6 months — $10,000,000 x .06 x 6/12 — $300,000.


The town would not report any expenditure in its governmental funds. Interest on long-term debt is an exception to the rule that expenditures must be accrued. Interest is not reported as an expenditure until the period in which it must be paid.

b.
Bonds sold at a discount


The economic cost for the first period would $9,552,293 times the effective yield of 3.2 percent per six month period — $305,673.


The town would report an expenditure of only $300,000, the amount of the required payment. Bond premiums and discounts cannot be amortized.

c.
Bonds sold at a deep discount


The economic cost for the first period would be $10,000,000 (the amount received) times the effective yield of 6 percent for six months — $10,000,000 x 0.6 x 6/12 — $300,000.


The town would not report any expenditure. Interest is not reported as an expenditure until the period in which it must be paid and premiums and discounts need not be amortized.

2.
Bonds issued at par; debt service resources accounted for in a debt service fund

a.
The transfer would be reported in the general fund as a nonreciprocal transfer-out.

b.
It would be reported in the debt service fund as a nonreciprocal transfer-in. The town could opt either to accrue interest or not accrue interest in the debt service fund. Current standards make one exception to the general rule that neither interest nor principal be accrued. If debt service resources are transferred from one fund to another in a current year for payment of principal and interest due early the next year (i.e., within a month of year-end) then both the expenditure and related liability may be (is not required to be) recognized in the recipient fund. Thus, the town could, if it elects, accrue an expenditure of $300,000, the amount transferred from the general fund.

3.
Investment in notes

a.
The economic gain would be $10,000,000 times the effective yield of 6 percent for four months — $10,000,000 x 0.6 x 6/12 — $300,000.

b.
As noted in Chapter 4, governments must state their investments at market value. The market value would reflect the accrued interest and therefore, the town would be required to recognize revenue of $300,000 on the funds invested.
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1.
Journal entries

Cash 
$2,589,027

Interfund charges for support services—revenues

$2,589,027

To record payments from utility funds for support services provided
Cash 
$  309,842

Interfund charges for rent—revenues

$  309,842

To record payments from tourism fund and utility funds for rent
Cash 
$6,670,617

Payments from utility funds in 
lieu of taxes—nonreciprocal transfer

$6,670,617

To record payments from utility funds in lieu of taxes [In certain circumstance payments in lieu of taxes may  recognized as revenues rather than transfers]

Cash 
$  173,617

Transfers-in—nonreciprocal transfer

$  173,617

To record transfers from other funds
2.
GASB Statement No. 34 distinguishes between two types of interfund activity — reciprocal and nonreciprocal. Reciprocal activity is the internal equivalent of exchange transactions whereas nonreciprocal activity is the internal equivalent of nonexchange transactions. Reciprocal transfers between funds should generally be reported as if they were exchange transactions — i.e., as revenues and expenditures or as other funding sources and uses, as appropriate. The transfers for support services and rent clearly fall into this category and hence were recognized as revenues. Nonreciprocal transfers are reported as transfers and are shown in the statement of revenues, expenditures and changes in fund balance as other sources and uses of funds. Payments in lieu of taxes and other transfers in which equivalent value is not exchanged are classified as nonreciprocal transfers and accordingly the entries reflect that classification.
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1.
Schedule of cash inflows and outflows (in thousands)

Revenues from motor fuel tax (a)
$706

Wage and salary payments (b)
 (412)

Payments to Pension fund (c)
 ( 31)

Payment associated with supplies purchases (d)
 (188)

Payments associated with other expenditures (e)
 ( 66)

Purchases of equipment
 ( 90)

Issuance of long-term debt
     90

  Net increase in cash
$    9
(a)
Tax revenues of $710 minus $4 increase in taxes receivable

(b)
Wages and salaries of $410 plus $2 decrease in wages and salaries payable

(c)
Pension contribution of $35 minus $4 increase in current obligation to pension fund

(d)
Purchases of $190 (as indicated by supplies expenditure) less $2 increase in accounts payable

(e)
Other expenditures of $70 less $4 decrease in prepaid expenditures


The legal settlement was not yet paid; it is offset by a liability for claims and judgments.

2.
No. None of these items can be determined from the fund balance sheet or statement of revenues, expenditures and changes in fund balance. Under the modified accrual basis, only amounts to be liquidated with current expendable financial resources are recognized as expenditures and liabilities. Hence, claims and judgments, pension contributions and interest to be paid in the future are not reflected as either expenditures or fund liabilities.


The government-wide statements would report the full amount of these expenses and recognize the entire related obligations. The liabilities as well as the increase and decrease during the year would be reported in the schedule of long-term obligations.

3.
If a government classifies its expenditures by function, then it would not be possible to associate each expenditure account with a related asset or liability account. Thus it would not be possible to derive the cash flow information. Governments classify their expenditures by function rather than object classification because most users find the functional information more useful. They would prefer, for example, to know how much was spent on public safety, parks and recreation, and other activities than on vacation pay, pensions, supplies, etc.

5-10

1.
The fund balance deficit obviously results, at least in part, from the acquisition of the central irrigation system and the Roper fields for soccer. In special revenue and other governmental funds, the acquisition of capital assets is recorded as an expenditure. Capital assets are not given balance sheet recognition. Similarly, long-term obligations are not typically given balance sheet recognition, so there is no impact on fund balance. In this instance, however, the resources were borrowed from other funds and have been recorded in the Permanent Parks and Recreation Fund as obligations, “Advances from other funds.” In addition, the deficit will be reversed in the subsequent year when deferred revenue from general property taxes is recognized.  Moreover, it is unlikely that the chief accountant didn’t make the acquisition decisions.  
2.

Expenditure for irrigation system and soccer


   fields
$1,327,394


Cash 

$1,327,394

To record the acquisition of the irrigation system and the soccer fields
Cash 
$1,327,394

Advances from other funds

$1,327,394

To record the interfund loans
3.
The additions would be reflected in the Permanent Parks and Recreation Fund as expenditures. 


The deductions would be reported in the Permanent Parks and Recreation Fund only to the extent of any cash or other financial resources received upon sale.
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1.
The purchases method requires that a government offset reported inventory with a fund-balance reserve. The consumption method permits, but does not require, a reserve. Dallas does not report an inventory reserve; hence it uses the consumption method.

2.
Governments recognize expenditures when expendable available financial resources are reduced. Expendable available financial resources are reduced by either the payment of cash or a commitment to pay expendable available resources. The reported liabilities for vacation and sick pay and for the housing discrimination claim must therefore represent obligations to be paid out of available (i.e., current year) resources.

3.
a.
The official is incorrect. The fund balance cannot be presumed to indicate the amount of cash that will be available for expenditure in future years.



Each of the assets (that is, receivables and accrued interest) with the exception of inventories can be expected to be transformed into cash in the following year. Inventories will not generate cash, although they may obviate the need to purchase inventories in the future (assuming that the city is able to operate with a reduced inventory balance).



Each of the liabilities with the exception of the deferred revenue (that is, the payables, the deferred compensation and the legal claim) will require the expenditure of cash. The deferred revenue will not require the disbursement of cash. As indicated in the note, deferred revenues arise when resources have been received but not yet recognized as revenues.



The general fund balance sheet fails to indicate other obligations which may have to be paid out of general fund assets. The liabilities, which would be reported only in the government-wide statements and the schedule of long-term obligations, include deferred compensation and legal claims (other than those to be paid out of expendable available resources), notes and bonds. Similarly, the general fund balance sheet does not report on capital assets which, if sold, could generate cash. These are reported in the government-wide statements and the schedule of capital assets.


b.
With the information available on the general fund balance sheet, there is no way to determine the amount of cash (and claims against it) that will be generated by the reported net assets (i.e., fund balance). Hence, the member of the NCGA is correct; a governmental fund balance fails to provide information on the resources available for future appropriation. The only way it would provide the necessary information is if the budgetary basis of accounting were identical to the accounting basis.
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a.
Journal entries

1.

Grant expenditure
$2.0

Cash 

$2.0

To record grant to acquire computers Although the grant is restricted as to purpose, the funds can be spent upon receipt (but not before). Therefore the entire amount of the grant expenditure should be recognized upon payment.

2.

Grant expenditure
$8.0

Cash 

$7.0

Grants payable

  1.0

To record grant to acquire computers This is a reimbursement-based grant. The recipient becomes eligible for the grant upon incurring allowable costs and providing appropriate documentation. The entire amount of eligible costs incurred should be recognized when the state receives the documentation.

3.

Grant expenditure
$1.0

Cash 

$1.0

To record grant to acquire computers The recipient becomes eligible for the grant only in the year in which the funds are received. Hence, the state should recognize an expenditure in that year for the amount paid.

4. a. 
Advances on consulting contract
$0.1

Cash 

$0.1

To record payment for consulting services Unlike the other grants, which are nonexchange transactions, this appears to be an exchange transaction. The state is getting value in exchange for its payments. The expenditure should be recognized either on a completed contract or a percentage of completion basis. No expenditure should be recognized before the accounting department has begun work on the contract.

b.
The state would not have to make any adjustments to convert to full accrual, government-wide statements. The general rules of revenue (and hence expenditure) recognition apply to both the fund and the government wide statements, with the exception that revenues must satisfy the “available” criterion to be recognized in the fund statements. The available criterion does not, however, apply to expenditures.

c.
In each of the above cases the recipient would recognize revenue in the same amount and in the same period as the state would recognize an expenditure. However, in their government-wide statements, the recipients would not recognize an expenditure in the period they acquired the computers. Instead, they would capitalize the computers and depreciate them over their useful lives.

Questions for Research, Analysis and Discussion

1. GASB statement No. 34 (paras. 55 and 56) defines “special” items and distinguishes them from “extraordinary” items:

Extraordinary items are transactions or other events that are both unusual in nature and infrequent in occurrence. APB Opinion No. 30, Reporting the Results of Operations—Reporting the Effects of Disposal of a Segment of a Business, and Extraordinary, Unusual and Infrequently Occurring Events and Transactions, as amended and interpreted, defines the terms “unusual in nature” and “infrequency of occurrence”. As discussed in paragraph 53, extraordinary items should be reported separately at the bottom of the statement of activities.

Significant transactions or other events within the control of management that are either unusual in nature or infrequent in occurrence are special items. Special items should also be reported separately in the statement of activities, before extraordinary items, if any. In addition, governments should disclose in the notes to financial statements any significant transactions or other events that are either unusual or infrequent but not within the control of management.

a. the settlement of an age-discrimination lawsuit — Can be classified as a special item only if settlement of lawsuits of this type and magnitude are unusual in nature and infrequent of occurrence.

b. the sale, at a sizable gain, of city-owned land to a private developer — Same as item #a

c. the unreimbursed cost of providing housing and other assistance to hurricane victims that have relocated from other areas — Probably qualifies as a special item assuming that providing the housing and other assistance was not forced upon the city by high authorities. 

d. a major donation, which the city had actively solicited from a local corporation to support a city science center — Probably qualifies as a special item.

2. Para. 112 of GASB Statement No. 34 states:

Interfund reimbursements—repayments from the funds responsible for particular expenditures or expenses to the funds that initially paid for them. Reimbursements should not be displayed in the financial statements.


Hence, the Department of Human Resources should not report the reimbursements as revenue.  Instead it should deduct the reimbursements from its training expenses.  The agencies should report their payments to the Department of Human Resources as expenditures.

3. The interest portion of the payment should be reported as a public safety program expense.  GASB Statement No. 34, para. 46, states:

Interest on general long-term liabilities generally should be considered an indirect expense. However, interest on long-term debt should be included in direct expenses in those limited instances when borrowing is essential to the creation or continuing existence of a program and it would be misleading to exclude the interest from direct expenses of that program (for example, a new program that is highly leveraged in its early stages). Excluding the cost of the borrowing when it is necessary to establish or maintain the program would significantly understate its direct program expenses. Most interest on general long-term liabilities, however, does not qualify as a direct expense and should be reported in the statement of activities as a separate line that clearly indicates that it excludes direct interest expenses, if any, reported in other functions. The amount excluded should be disclosed in the notes or presented on the face of the statement.

4. As indicated in question #1, “extraordinary items are transactions or other events that are both unusual in nature and infrequent in occurrence.”  The discussions in APB 30 as well as in an interpretation of APB make it clear that events or transactions that may be considered infrequent in occurrence or unusual in nature for one entity may not be for another entity.  As an example, losses of a citrus grower in Florida owing to frost cannot be considered extraordinary because frosts occur every few years.  Similarly hurricanes in Florida are hardly unusual or infrequent in occurrence.  Hence, the losses should probably not be considered extraordinary.   
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